FEEREMERTRG X
HER - 1/ 10,000

HEXTESE L=

W o i &
HY B R HAEMT H 55
o o X ik
1R SRR (12R)
X = =21096.2433
Y = —68920.3188

A00mn

g

=Ryl {
0\_"//\




TE B M RIS
| MR 1/ 10,000
HEXITESE2S
OB o i &
18 2 HRHE S M7 Hi 4

O oo X i

WA R IE (12R)
X = -20298.5983
Y = -67473.0093

400m

340° 00’ 1250m
(1000m)

FEF



T EREELTIREK
i R
EXITEES =
WO oo i &
194 2 BB B T Hh 4T
OB 0 X iK%
YA S AR AE (125R)
X
Y

= —18229.0621
= —63133.2588

480m

350° 00" i250m
(1000m)

ALATHUE

1/ 10,000

OLJ\/\
P ko)



B EHER ALK
#ER : 1/15,000
X EFLIE
B O I B
1 = AR HE =B T b 5
B o XK
e L A AR (125)

X = —18005.2815
Y = —61107.8145

400rn

(wosst)
wipg8t 00 LPE

A



TE B R EFEL AN
MER . 1/ 15,000

w B 0 i E
HE AR B AT HISE

VS SRR
G 2 AR E (125%)

X = —-12852.1816
Y = -02838.0561

400m

{L0SOL)

Lgspg L0062

s

b



EIREMESRTRE X
E R

il

BT ESLS

OB 0 Xk

ik BRI (123%)
-8370.6089
~49899.7187

< 5K
1

400m

(ps0L)
wpsgt 00 OB

AT

1/ 15,000



E B EMERTRZX
#MER . 1/ 15,000
INESITEE L
N /S B VA
R HH AR/ NERT 4
B OE o K
a5 SRS E (123)

X = 8b60.5183
Y = —-46993.8718

400m

(tM0091)
wegdl 00 692

PN



FEEREERTFARX
AEIN
PSTEHELE
B oo i &
ERIERPIRET Hh 5
BB O KK
TR A R BEARAE (125R)

X = 42828.6169
Y = —-43058.5839

400m

(wps8l)
,00 062

weLog

PR
o

1/ 15,000



TEEREMERTHASX
EIN
PSITEF2 =
BB O i E
5 BIRR I R AT H 56

BB O K W

WG RUEEE (125%)
X = 46121.5373
Y = —41000.4441

400m

1542m
{i400m)

309° 00°

1/ 15,000




EEIREMERTHREN
TN
ST EHRLE
BB oo L B
ERIER LA
WoB oo X
Vel L R AR (1257)

X = b56131.1009
Y = —38583.9777

400m

(Wpore)

wiolge 00 .2Le

1/ 20,000




B REEARTREX
AN
HISITESH2S
BB 0 L &
T BITERI LB
OB 0 X Ik
IR AR (1235)

X = 6b993.9294
Y = —-36565.3864

400m

,JOE 52

{W10661)

wigig

1/ 20,000

KiR



BB MR TFREN
FER . 1/ 20,000
EMTES LS
BB oo i B
FHE R AT Hh

OB 0 X

A5 SR E (125R)
X = 78665.683
Y = -36720.379

400m

263° 31' 2066m
(1900m)




EEIREERTRAEX
AN
RS EHELF
B O LB
KIBFR R RT 55
BB 0 X O
MG R AR AE (125R)

X = 95677.6797
Y = —39728.7347

400m

(wpekiL)
00 .B52

wipeg|

= bl ]|

1/ 15,000




T B RTIA SN
N
MRLEZTEFLE
wm B o ff B
KIGERIRILT H 5
WO oo Xk
MR B R R (125%)

X = 99330.4892
Y = —-40673.5106

400m

,8¢ 962

{wgty)

woBG 1

1/ 15,000



E B I EME R THRIEX
#ER 1/ 15,000
BRESIT EE 2=
o o &
R HEABILIENT Hu 5
B B 0 XK
Yo R IR (123%)

X = 102812.5272
Y = -41723.5823

400m

(wope'L)
.00 952

wgesl




TEERSRHESLRTR X

RIS 1T S E

B o i &
R BPIRITHT Hi 5%

o o X

Vg RUEERRAE (125%)
X = 106263.5635
Y = -42870.5875

400m

A0 852

{(wope'l)

wgegL

N

1/ 15,000



B MER TR
#ER . 1/75,000
BODLYWEFL=

OB 0 i B
BRI T #i2
B o X IR

TRIGEE UEEAEAE (125R)

X = —10399.9029

Y = -51371.283

S500m

5
8
2
s
3




